g 2
~ (o]
s °
k) =
B/ e}
1072
910U....|....|....|....|....|.... 910U....|....|....|....|....|....
| I
g +{{HHHHHH+++}H{W++H+H+HH+H}H+H] 1l ’HHﬂM%#ﬁHHHHWﬁ#ﬁm
= N (R 023 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_V0001_R000000001__Global__mkFitbase_ RECO
—— DQM_V0001_R000000001__Global__ CMSSW_X_Y_Z RECO
= =~ 1=
= IS H
5 S
4 3
5 ©
1072
I T : : : : :
& « (TTTITTIR TR TTTI]
'ﬂ*’“m +++++H+++H+++++¥++HH+++++H++++H }}4'"#“* Bl }H-HWH it ” "
: + : : : : :
083570 T2 3 0983 T 0 T2 3
TP n (PCA to beamline) TP n (PCA to beamline)
~ 1=
2 :
D_l—
o
o
1074+
o10%
g R
W"{’H+{Q}NMM+W+HW#H%]
0983= 3T 0 T2 3

TP n (PCA to beamline)




	Contents
	Page 1


